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16 (A)

MATHEMATICS, Paper - II
(English version)
(Parts A and B)
Time : 2 hrs, 45 min.] IMaximum Marks : 40

Instructions :

1. Reod all questions. 15 minutes of time is allotted exclusively for reading the

Question Paper and 2.30 howrs for writing the answers,

2 Ihﬂ~AnnmrnhﬂuMbewﬂﬁminﬂepwmﬂnmarbmk.
3. There are three sections in Part-A.
4. Answer all questions,
3. Every answer should be written vigibly and clearly.
6. There isinternal choice in sectian - IIT.
Part- A
Time : 2 hours Marks : 30
SECTION - | (Marks ;: 4x1=4)

Note: (i) Answerall the questions,
(ki) Each question carries I mark.

1. Inﬂﬂﬂﬂ.LM#BGan&%‘%,AM=ﬁcm.f’mdiﬁ.
2. Evalute sin 15 gec 75°.
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A box contains 3 blue and 4 red balls. What is the pmhﬂbllity that the ball
taken out nmdnm]y will be red 7

4. 'The mean for a grouped data is caleulated by £=u+E—E‘f§i .
i
What do the terms ‘f;” and ‘d;’ represent in the above formula ?
SECTION - 11 (Marks : 5>2=10)
Note: (i) Answerall questions.
(it) Each question carries 2 marks.
5. If the distance between two points (z, 1) and (-1, 5} ia"ﬁ-’, find the value of z’.
6. Find the length of the tangent from a point 13 ¢m away from the centre of the
circle of radiue 5 em.
7. IfmaA:';/Eﬁ , ther find &in A'and cosec A,
What do you observe 7
8. Rehman observed the top of a temple at an angle of elevation of 30°, when the
observation point is 24 m. away from the foot of the temple. Find the height of
the temple.
8. Write mid-values of the following frequency distribution.
Class interval | 8-11 12-15 | 16-19 | 20-23 | 24-27 | 28-31 ) 32-35
Frequency 4 4 3] 13 20 14 B
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Note :
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11. f{a)

(h)

12, fa)
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(Marks : #x4=1g)
BECTION - i3

& Answerall the lesiions, :

(@}  Choose any one from each question,

(i) Each question carries 4 marks,

2 i
P matmfna+mmmﬂ+{maﬂ+ﬂe¢m2='?+tmﬁ+mtﬂ,
Tove I’

OR

Find the median of the following data.

0
Class interval | 11.15 16-20 | 2125 | 28-30 31-35 | 36-4

2. 7 4
Frequency 3 b & ¥

OR

In what ratio, does the point (- 4, 6) divide the line segment joining the
points A(- 6, 10) and B(3,-8)7

= £ !I?-
than or equal to 12, (¢} & prime number, {ef) multiple of °3" |

[7]



13. (a) Constructa triangle PQR, where QR=E.E¢m,.f_‘Q=EE‘ and
Pﬂ-ﬂmﬁmdfawmutharﬁangh,whmeaidmm% times of
the corresponding sides of APQR.

OR

() Draw a circle of radius 4 cm and draw a pair of tangents to the circle,
which are intersecting each other 6 cm away from the centre.

ClassResult.In

167 (A) [8] MARCH, 2019



" This Question Paper containg 8 Printed Pages.

16A(B)
MATHEMATICS, Paper - IT
(Tamil and English versions)
(Parts A and B)
Time : 2 hrs. 45 min.] Maximum Marks ;: 40

@Ol : Part-B &giflw dlensenen chlennganefiCaCu arypd),
Part-A flen O ubsadgi s Slenamébs Geavatn(ib.

Part-B

Time ; 30 minutes Marks : 10

BECTION - IV (Marks : 20 x % = 10)

0 Diswevgg dhlarienEhigh el wofl.

)  epuQeundnBiiein A B0 s

(i) Sadgg woob Sodh awpdlu Blalsenie pHIEL
GUIDTBMBLIL. DML Mg

() gpebblany dlamdihmbd mrdnys Caflajed ederan. sflwren
ehlenl_dsmnem eripdeng CAPITAL LETTERS & (A, B, C, D) cBlesmeflan
aglCy Clan(Rléstul (Hemen @eniSgyet spseaib.

4. symélgyeren L gl #/BDE = ... Al
A (A) 45°
0 (B) 65°
(C) 76°
60" 75"
B B c (D) 60
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22,

(D sibLgdldn Geriph, sbsbusHdn BipeSln
Begpid swib eraflés @flwallen ghnCanmmb
(A) 18° (B) 30°

(C) 45" (D) &0

S L T :
(A) 60° (B) 80°
(C) 180° (D 270
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Staubbler Cubumd e b Sloam(y) sraimaatlen

sa(higeunang 13 ear SmiLghaner Blapammay
(A) -1 (B) 1
C) 0 (D) 2
25. P(E)=0.05 craflés P(E)= ...,
(Al 0.5 (B) 0.85
(C) 95 (D) 0.095-
26. 5,6,9,10,6,11,4,6,10, 4 ouélu dlagsHan apa(y
(A) 4 = s
© 6 D) 10
27. tan @ & genoudifl
(A) sech (B) cot@
(C) cosecH (D) —tan®
28. (sec”H-1) (cosec?0—1) = ...,
(A) 0 B 1
(C) tan®s (D) cot?0
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() 8 - (D 10
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29. ex(m @it gldn eniowb (2, 1) Ciogyib sauan Lgdle el g e
G@(m (peman (8, 4) erafley WHGIDIG (P oo £
(&) (1,8 (B) (-1,-6)
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Ku

(C) 24 & SE0@E (D) 18 &, SwuEEen

32. Apsscdnabible e Blepsdlean Hlapssey T
(A) -15 : (B) 24
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16 (B)

MATHEMATICS, Paper - II
(English version)
(Parts A and B)
Time : 2 hrs. 45 min.] IMaximum Marks : 40

Instruction : Write the answers to the questions in this Part-B on the Question
paper diself and attach it to the answer book of Part-A.

Part-B

Time : 30 minutes : Marks : 10

SECTION - IV (Marks : 20 x % = 10)
Note :
(i} Anstverall the questions,
(i) \Bach guestion carries #mark.
(i) Marks will not be mwarded in any case of over-written, rewritten or erased
(ETEFLETS,

(i) Each question has four options. Write the CAPITAL LETTERS
(4, B, C, D) showing the correct answer for the following questions in
the brackets provided against them.

14. Inthe figure, ZBDE = ..... [ 1
A (A) 4B°
0 (B) &5°
: (C) 978°
&0" 76°
B E ¢ (D) &0
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15, cos60° + sin 30° value is ..... L 1

w Y3 ® 1
(C) cos90” (D) BandC
16. X-coordinate of intersecting point of two ogives, represents ... [ 1
(A) Mean (B) Median
(C} Range (D} Mode

17. Centroid of a triangle, whose vertices are {-a, 0), (0, b) and (g, 0) i8 ... [ |

(A) (a,b) ® (%4.9)
© (0 %) ® (% %

18. ‘The formula to find the area of a triangle is .... pr £ 4
(A) a:%m B A=y-a)s-b)s—c)

(C) anﬁn—n]{a-b‘ﬂs-c} (D) AandC

19. The thesremapplied to divide the line segmpnit in the given ratiois .. L | ]
(A) Pythagorus theorem (B) Thales theorem
(C) Euclid's theorem : (D) Brahmagupta theorem

20. Thﬂuumhtrﬂftangentadrawnatthneudpnintanfthadiamuheris..,. [ 1

(A) 1 By 2
(c) 3 (D) Infinite
a1, IfsecA+tanA =) thensecA-tanA =... £ 3
(A] B ® L
© %5 (D) %
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29,

The length of shadow of a pole iz equal to the length of the pole,
then the angle of the elevation of the Sun is ..
(A) 15° (B) 30°
(C) 45° (D} 60°
23. Angle in a gemi-circleis .,
(A) 60° (B} 90°
(©) 180° (D) 270°
24. The probability that the sum of two numbers appearing on the top
of the dice is 13, when two dice are rolled at the same time is ...
(&) -1 (B 1
(C) 0 (o 2
25. IfP(E) = 0.05, then P(E)= ...
(A) 0.5 (B) 0.95
(C) 85 (D)  0.095
26. The mode of the data'5,6, 9, 10, 6, 13.4, 6,104 fs.
A 4 1B} 5
(C) & (D) 10
27. Reciprocal of tano is...
(A} secH (B) cott
(C) cosech (D) -tan®
28. (sec’d - 1) (conec® B-1)m= ...,
(A} O (B} 1
(C) tan®®@ (D) cot’s
16 (B) [71



29. The centre of the circle is (2, 1) and one end of the diameter is (3, - 4).

Another end of the diameter is .....
(A) (1,6) (B) (-1,=6)
(Cy (1,-6} (D} (-1, 8

30. The letter that represents 5—;-5 , which is used in measuring

mean is ...
(A) d; ® £

(C) uy (D) =

31, In the given figure, area of AOABIs ...

(3 m

_IassR@suIt |

(C) 24sg.u. (D) 18 sgu.

3. Which of the following be the probability of an event ?
(A} =15 (B 2.4
(C) 0.7 : (D) 116%

83, sin(90-A) = 15, thenA = ... [ =3
(A) 80° (B) 45°
(C) 60 (D) -90°

16 (B) [8] MARCH, 20189

[

n



